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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. © 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
S Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

warl:liﬂg H Ifa cal'ldidate ls found cgp)(ing or if any unauthurjzed
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be

prosecuted. Department may also debar him/her permanently from
all future examinations.
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1. Who provided leadership in Mewat during

revolution of 18577
(1) Ahmadullah
(2) Ghulam Ghaus
(3) Sadruddin
(4) Mulla Sali

2. Who was appointed the Chief Minister of

United State of Rajasthan on 18" April, 19487
(1) Gokulbhai Bhatt
(2) Manikya Lal Verma
(3) Bhurelal Bayan
(4) Balwant Singh Mehta

3.  Who were the Tajigs?
(1) Turkish foreign amirs
(2) Turkish slaves
(3) Non-Turkish Foreign Amirs
(4) Qutbi Amirs

4. Computer Assisted Learning is useful for
- which type of Lerner?
(1) Every individual
(2) Slow learners only
(3) Gifted learners only
(4) Average 1.Q. learners only

5. Read the following statements about
Chalcolithic culture and choose the correct
answer —

A Chalcolithic people lived mainly in
rural communities,

B Daimabad is the site of Kayatha
Culture.

(1) Only A is correct

(2) Only B is correct

(3) Both A and B are correct
(4) Both A and B are incorrect

13-
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Jara ¥ 1857 4 ia @ N B g

(1) sEagean X
2) Tem a X

(3) TgHeH
(4) Hoor Aell
18 ariel, 1948 FY Wfed WYad XIS &

ger s frgaa fvar e

(1) 9% <gfed & forg

(2)  ®Haa € T arer rfTHwdl

(3)  ad FlHTIEN iR wal @

@) @ad AT Jfearer sfEraeal

AHINOGTAT WBfa & IR & fefeRaa

®IF B 9fey IR WE SR BT GqA

Afora —

A TEHUNTOTERTAT AT g g
e H & o |

B QUEIE HIIAT AP BT wIe ¥ |

(1) ®ad A¥E

(2) ®aa B 98 © :
(3) AUd B Tl 98l © C)
(4) ATd B THI Ted €
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6. The developmental change form externally 6, a1 fAf>d MR § a=Re Frafa

controlled behaviour to internally controlled FraER B AR BN A s aRacd T
behaviour is a part of — arT B B —
(1) Piget Cognitive Development Theory 1) Ras & SR fawra Rt
(2) Erikson Psycho-Social Development @ RFED TS faera Rigia
Theory @) @t @ e e figia

(3) Kohlberg Moral Development Theory
(4) Bronfenbrenner Ecological Theory

7. An ancient short inscription with large sized 7.

@) R @ TRRefiea Rigia
@Waaﬁmwmﬁlmm

letters named as ‘signboard’ has been found | qE’ @ A A AT SR &, e
Ak~ 3 yT g3 B |
(1) Lothal (1) T
(2) Kalibangan @) @reE
(3) Dholavira 3) SreTdRT @
(4) Ganweriwala @ TS
8. The territory under the Mandate System of the 8. T wg @Y SRR o (ﬁé—d RieeH)
League of Nations were divided into how many & st o arer & e @ | fawfora
groups? o7
M Two @ @
i T @ & O
(3) Four I
(4) Five @
9. Which was the earliest capital of Magadha? 9. WY F ARMS o B A A
(1) Patliputra (1) urcforg=
(2) Vaishali (2) el @
(3) Girivraj @3) e
10. Which religious sect has been ridiculed in the  10. qgaaﬁq I gy <fra qﬂﬁamugﬂ?l E
text named Mattavilasprahasan written by o1 ¥ Frg aTfife wwe™ 1R &7 fHar T
Mahendra Varman I? 87
(1) Kalmukh 1) wrogE
(2) Shaiva 2 ¥4 @
(3) Japalike @) e
(4) Pashupata @ qrgu
11. Napoleon Bonaparte was born at- 11 mﬁuﬁ BT T gIT Al
g; :::n ) @ RwF X c3
(3) Ajaccio 3) mﬁaﬁ.ﬁ @_
(4) Corsica 4 Hfer ﬁ//”_._}
. e

Page 3 of 32
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D

d the 12. 79 & &9 wd A DA T BN Yron;
12. Which ruler of Magadh had annexe N . Xroaf
kingdoms of Kosala and Kashi? . STfee fpa o
(1) Bimbisara (1) fefEER
(2) Ajatashatru (2) ST @
(3) Shishunaga (3) fRrgAm
(4) Mahapadma Nanda (4) #BIYgH ¥9
13. The office of Secretary General of UNO is 13. ¥gdd g W & HeNEd &1 By
called - BEATC & —
(1) General Assembly (1) wE™H
(2) Security Council (2) g TRyg
(3) International Court of Justice (B) IR R @
(4) Secretariat @) Gfraea
14. Palestine and Mesopotamia were handed over ~ 14. 7% g ) R yumell & W
to which country under the Mandate system of fpfored= va JEe®ar fa < &1 9n
League of Nations? Mg?
(1) Japan (1) U ®I
(2) Australia 2) eﬁ?ﬁﬁl’&T F
(3) France 3) Wi & C(
(4) England W
15. From where a terracotta seal bearing Brahmi  15.  sm&fl fofY gaw v g @ v @el & ura
script has been recovered? E—g 27
(1) Bairath 1) o 9
(2) Rairh 2 R %
(3) Rangmahal @) Ed ¥
(4) Sambhar @) o %
16. Which of the following pairs is not correctly  16. f=ifeiRaa # & Hi=en = FAfera &l 87
matched? K
(1) Robert Fulton — First steam operated (1) Q‘IEIT::.W — YR a9y "fera Ardl
boat Q) WS & A — W9 7w P
(2) Ferdinand de Lesseps — Suez canal (3) WISRE Ud. Aediie — wfed aferd
(3) Cyrus H. McCormick — Power driven ST @
loom ) . 7,\
(4) John Kay - Flying Shuttle @) S @ — ST Iee
17. Who among .““’e following started the Iqta 17. @ ¥ gaaT 9o T yEE freferad # 9
System in India’ Arery fpa?
(1) Muhammad Ghori a oS
(2) Balban = ges @
(3) Iltutmish W
(4) Nasiruddin Mahmud (i; gegarad
(
— . oL HES -
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18. Who painted the visionary paintin
marriage of Mary and Joseph? ¢
(1) Leonardo da Vinci

(2) Raphael
(3) Michelangelo
(4) Masaccio

of the

19. Which of the following is called ‘Shruti’
literature?
(1) Vedas
(2) Vedanga
(3) Purana
(4) Ramayana

20. Which Mughal ruler appointed Vijay Singh as
the ruler of Amber and named it Mominabad?
(1) Aurangzeb

(2) Bahadur Shah
(3) Farrukh Siyar
(4) Muhammad Shah

21. Arrange in chronological order the conquests
of Alauddin Khilji and choose the correct

option -
(i)  Gujarat
(i) Deogirl
(iii)) Malwa
(iv)  Chittor

1) (@, (ii), (iii) and (V)
2) (i), (v), (i) and (i)
@) (i), (i), (i) and O
@) (i), (1), (V) and (1)
22. According 10 behaviourism, som

situallo
when removed from t ethc probabimy of

ething that,

18. A% 3R AT & faE B doutre A
1 e fafa far ar
(1) feravret ar R

(2)
(3) wEHd q‘v’m‘t?(
@) s
19, frefafea ¥ ¥ 6 gfy wifec wer S
4
(1) 92
(2) 9T
3) Y
@) R
20, fpa el e A fao fiig &1 IR
o Hifta e 3R B
Af=rETE ¥’
(1) SRS
(2) d9ETgR WE
@) wvE RER @
(4) W UTE
21, areSd Raeh @ faswi @1 HIATIHAD
Frafterd ¥ 9 A8l fabed o —
() - o S
iy <afrd ¥,
(iii) el oS
(iv‘)' ﬁ"ﬁ'ﬁg 83 |
1) (@), (i), (iii) T1v)
@) (), Gv), Gii) 7 G - @
@) (v), Gii), (i) 70
@) (i), (i), Av) 9 ().
2. orERaE @ agaR T8 avg for B T
e SRRef & e fftea gl 8N
ser W & o wHE g  dfed

®©

7|
-

response,  increases .
ﬁ? of the same behaviour has been B P |9IEqT 96 ol &, 9 FEd & —
(1) Positive reinforcer (1) eArHD Eﬁﬂﬂﬂif o
(2) Negative reinforcer (2) FOTHAD gD ?}
(3) Reward A3) WR/Q
(4) Punishment 4) <s
e

\_/////rf’;e Sof 32
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23.

27.

called

Who among the following ~Was

“Sarvakshatrantak™?
(1) Bimbisara
(2) Ajatashatru
(3) Shishunaga
(4) Mahapadma Nanda
The Treaty of Yandaboo was signed after the~-

(1) First Anglo — Maratha war

(2) First Anglo — Afghan war

(3) First Anglo — Sikh war

(4) First Anglo — Burmese war
Who was not the office bearers of the Gram
Sabha during the Gupta period?

(1) Kutumbin

(2) Ashtkuladhikari

(3) Mahattar

(4) Sarthwah

Which of the following state was related to
‘Sanad Parwana Bahis’?

(1) Bikaner

(2) Kota

(3) Jaipur

(4) Jodhpur =

Who among the following was not a member
of ‘the three member Jesuit Delegation’ that
visited Fatehpur Sikri in 18507

(1) Fr. Rodolf Acquaviva

(2) Fr. Antonio de Monserrate

(3) Fr. Julian Pereira

(4) Fr. Francis Henriques

Which of the followin g rulers threatene d to
punish Sheikh Nizamuddip Auliya?

(1) Alauddin Khilji

(2) Ghiyasuddin Tughlaq

(3) Muhammad Bin Tughlaq

(4) Firoz Shah Tughlaq

13- B
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23.

25.

27.

e
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= % Q¥ P wdeETe’ Beemar or?

(1) fafgar

(2) 3romaey

3 R

(4) #BIUEH FT
RICCHIG <15 e £ A D YTAT ERER
BT 9|

(1) wo¥ 7 — TWeST &

(2) "M AT — JABTH g

(3) uom I — fg g5 @

(@4) A I — q| g&

BT T AT & YRIRBIRAT § B
aftafera 781 o?
(1) e

(2) I<HATOBR
(3) "WEWR

4) wRiEE
1 7 9 fora Raraa & w9g wRarn el
wefera off?

1) dFR

() @l

3) AR

@) SR

= 9 9 1850 # woeR Wl ¥ 3 arel
g ®ig Sgge Rredsa’ o gew 48
oa1?

1) TR e v

2) PR T € drRe

(3) WY foraT R

(4) eR Wi &TRe Y
freifea # 9 o goam v @ fPamgEE
aferr @Y ST TA P e &) M7
(1) crsed Raersit

(3) Tewe 9 g
@) RS e gIad

2 fragds gree
@

©
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29.

K] B

32.

33.

On which Mauryan pillar
elephant fixed on the l()p?‘ we can find a large

(1) Sarnath pillar

(2) Lauriya Nandan pillar
(3) Sankisa pillar

(4) Rampurva pillar

When was the Arab League formed?
(1) 20™ March, 1945 ‘
(2) 21 March, 1945
(3) 22" March, 1945
(4) 23" March, 1945

Read the following statements and choose the
correct option from below —

(a) The book ‘Dastan-i-Amir-Hamza has
360 stories and 2400 paintings.

(b) The influence of Persian style is found
on ‘Dastan-i- Amir-Hamza.

(1) Both (a) and (b) are true

(2) (a)is true, (b) is false

(3) (a)is false, (b) is true

(4) Both (a) and (b) are false

rulers gave a large

Which of the following
the author of

number of gold coins (o
“Pattinappalai”

(1) Karikala

2) Nedunjeral

(3) Senguttuvan

(4) Nedunjelliyan

Which of the following statement/s is/are

incorrect?
(i) Industrial Revolution accelerated the
process of [mperialism- "
i) The policy of L aissez Faire’ ence
economic autonomy: ”
(iiiy The European class structure tl1.a.l
transformed by Industrid
Revolution.

(1) (i) and (iii)
(2) (ii) and (iii)
(3) only (iii)

29.

30.

31.

32.

33.

venfaa 87
(1) AR w
2) Ran g @
(3) warar @ @
(4) ¥gEr
g AT BT TS B9 I A
(1) 207, 1945
@) 2179, 1945
@) 229, 1945
@) 239, 1945

Fodi @1 ufsy R A RT
i A A M
(a) e TA-T—IHR-EwAT T # 360
paifrar Td 2400 oA & |
&/W—t{—wﬁ?—aﬂr W HERAl
Seht w1 9HE B

(1) 2F (a) TAT (b) § &

() (a)w%(b)m%x 2
3) (2) I & (b) T ©

@) @ (a) AT (b) 3T EX
e & O fba e T TS

S @Y g A et garg 4 i

(1) oRera
(2) Sgoe
(3) IFEGI Y

@) AAgvifeerad
Prafefgg HoAl § O @1 W1/ A

"B

1) (i) 3R (iii)
(2) (i) 3 (iii)
(3) ®ad (iii)
4) Bad (ii)
e

13- @
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34. The Sudarshan Lake was repaired by 34, ¥ $fiqr & weId Tsamd o fradd

Rudradaman under the supervison of - SR H FHars of?
(1) Tushaspha (1) U
(2) Aryaman (2) o
(3) Suvishakha 3) lem -
(4) Ganendra @) T

35. Which one of the following statements is 35. f=fiRag ¥ & S\Fd $29 5399 B aR

correct about Rudradaman? q TE 87
(1) He belonged to kshaharatra dynasty. M1) 98 &TEvTE 99 BT o7 |
(2) He was defeated by a Satavahana ruler. (2)\}\ ds Udh Hiddried THD J W gl
(3) According to the Junagadh inscription, o |
he himself assumed the title of @3) SETE & a‘fﬁmﬂ I WY
“Mahakshatrapa”. “HERTEY B IUI LROT Dbl AT |
i inscripti in Prakrit :
4) :—Ell:lsg{lual?adh inscription was in @ ‘F”E‘ﬂ?h‘r TG MeRT WIT I &

' o |
36. Motilal Tejawat was kept in jail for nine years -36. H1dfiaer doad &7 Jare § 9 9§ db AT
in Mewar without being charged. Who of the fodl oYU & Wa A W@ war o)

following intervened to get him out of jail?

(1) Manikya Lal Verma (1) =P e gut
(2) Mr. Holland 2) A sfcivs

(3) Manilal Kothari 3) #Afvrere BERr R
(4) Vijay Singh Pathik @) fasg Ry iy X

frefaRed § @ fFaT 9= 9 9 9%
R & forv eway faar?

%
2

37. Which one of the following pairs is not 37. = & W DI LW HE guferg =&t 27

correctly matched?

(1) Rajpurghat Treaty — Jaswant Rao "(’1{ TSIQR ©TE |iE — SHad Xa grey @

Holkar @) VaaTia W — <o sk

(2) Devgaon Treaty — Raghuji Bhonsale

(3) Surji — Arjungaon Treaty — Mahadji 3 Jé'ﬁ—eﬂﬁ*f Ma W - Hgresh

Scindia
(4) Treaty of Bassein — Peshwa Madhay @ i
Rao (4)%@@‘%%@
38. Which is considered as the place of origin of 38, f®! =AM FT 7o S &

the Chauhan’s?

Riferar

(1) Ajmer (1) 3R

(2) Delhi (2) faﬁ.ﬂ

(3) Sapadalaksha (3) ST

(4) Ahichhatrapur @) \”T%WFB
-

©
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39.

41.

42.

43.

13-B8

‘Nasdiya Sukta is related to which of the
following Veda?

(1) Rigveda

(2) Samaveda

(3) Yajurveda

(4) Atharvaveda
The place associated with Harappan
civilization is located in Baluchistan at -

(1) Sotka-Koh

(2) Rahman Dheri

(3) Gumla

(4) Mundigak

Who among the following was the founder of
‘Ashtachhap’?
(1) Vitthalnath

(2) Kumbhandas
(3) Surdas
(4) Gokulnath

‘Diagnosis of learning problems and their
remediation’ is concerned with which scope of
Educational Psychology?

(1) Learner

(2) Learning situation

(3) Learning process

(4) Teaching process
Name the war after which the Treaty of Lahore
was signed?

(1) First Anglo-Sikh war

(2) Second Anglo-Sikh war
(3) Third Anglo-Sikh war
(4) Second Anglo-Mysore war

Who among the following Wwas related to
‘Baimbik’ dynasty?

(1) Agnimitra

(2) Rudradaman

(3) Kanishka

(4) Gautamiputra Satakarni

e —

39.

40.

41.

42.

43.

aradra gaa freafafaa e 9w @ geite
27

(1) FaT

(2) TG

(3) U

O EEE]

FeWE WA A R FEEr e
gaiferar ¥ Rera 87

O

(3) el
@ T N
freg % A P ACVIY B HEIUG A7

(1) fagerr

(2) E™e™ @

(3) W™
(4) AT

‘SIferTH TRl &7 e 2R SeT SUAR’
R TS & Y &F | e 87
(1)  IferTHEdr

@) 3y aRRefy X
3) aferm™ wihan
@) ﬁramuﬁm)(

cp

SE Yg BT AW a8y e qwar dER
@ G Ju=r 3 A

(1) o s Rrw gg 7\
2) feda s 3=

@) Tdir sre—Rea gg X

@ fefra sria—RR 3=

PrfRad % & fraer weg afa® 90 9
o717

1) sf=fs

@) wEaTE \
(3) ==

@) g amae

®

Page 9 of 32
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45,

47.

49.

50.

: from
Which ruler of Persia conquered Kandhar

Jahangir in 1622 A.D.?
(1) Shah Ismail 1
(2) Shah Tahmasp
(3) Shah Abbas I
(4) Shah Ahmad [

“Tuman” is related to -

(1) revenue tax

(2) military organization
(3) architectural decoration
(4) market system
Which of the following battle is known
‘Marathon of Mewar’?

(1) War of Khamnor

(2) War of Gogunda

(3) War of Dewair

(4) War of Haldighati

Which of the following Buddhist sites was
visited by Ashoka as mentioned in Major Rock
Edict VIII?

(1) Lumbini

(2) Bodhgaya

(3) Sarnath

(4) Kushinagar

In which one of the following phases of the
syntax of concept attainment model, do

students identify  additional  unlape]fe
examples as yes or no?

(1) Testing attainment of the concept

(2) Identification of concept

(3) Presentation of data

(4) Analysis of thinking Strategieg
Who wrote the book nameg “Brief Remarkg
Regarding Modemn Encroachmen;s of the
Ancient Rights of Females”?

(1) Raja Ram Mohan Roy

(2) Ishwar Chandra Vidyasagar

(3) Vivekananda

(4) Dayananda Saraswati

13- B8

46.

47.

48.

49,

50.

\

PRE B B D A 1622 % iy
FIR BT SN Forar? 9
(1) =g s3rsd |

(2) @E aEE @
(3) 3ME @ 1

(4) oI 3EHT |

T R E

(1) ITSEF &R

2) AP HreT .
(3) U 3rcidHRoT @
4) dNIR Fgawen
||I|E”af|ﬁ@ﬁﬂ?ﬂ@'2ﬁ'mm
R & M | ST ST 27

(1) GFR F7 g5

2) TIRT T gg

Q) fR @1 g8 @
@) EEHERE BT gg

3d & Sed e Riemerargar fre 3 9
fa dig verct @ AT SHD gRT A E?
(1) fFait

(2) 9rET

3) AR @
@ AR

T Wit #isd & RFeed @) A
rawer 4 faemel - siftRe sAmifha e
&I B 3ar 78 & ©U F UEAM IR 87
(1) IYI B Wi &1 gdeqoy

(2) I P gBAH

(3) st @1 g \
@) Ric wERRET @1 fveye

fo= % 9 e Rl &y aReRT &1
<A fordy ofi?

(1) TSI IF AR "

Q) IR T R

@) fsE= K 9,
@) auﬁr—q'mwcﬁ%




51.

52.

53.

54,

——

Match the following List-I wj "
choose the correct option — 0 Tl . AL
List-I List-II
(Ruler) o
= (Inscription)
(A) amudragupta (i) Bhitari
(B) Chandraguptall  (ii)  Bilsad
(C) Kumargupta  (iii) Prayag
(D) Skandagupta (iv) Mehrauli
A B € D A B C D
)] ({l) (fu) i (i) @ G Gi) @ G
(2) (9. (fv). (i) (i) @ @ Gv G G @
@) Gi) G@v) @ @ @) (i) (v ()< O «
(4). iv) @ () (i) @ (v @® () (i)
Which of the following approach of learning, ~ 52. f 3 ofrw @ fea SurmE H
emphasizes the social context of learning and Sfer @ AT |eH W g foar T @
that knowledge is mutually built and 3R 99 5T @ URERS fyfor g gord B
constructed? aTd B T 27
(1) Individual constructivism (1) afdd fifeard
(2) Social constructivism @) RS Ayfifeard
(3) Social behaviourist (3) Wﬁ]‘:ﬁﬁ Wﬁ @
(4) Social structuralism @) S  CEILIE)
In which phase of syntaX in advance organizer  53. S e Hiea $ faedd P DA
model, the teacher promote active reception SRRl 3 ST SATH DY Aftra wiftd &l
learning and elicit critical approach to-a Siefzd @%a1 © AR TP fowa A
subject? AATGATEATeHES SUTTH @1 TbreT H ofrar 87
’___‘_,_,_.—-—-'__'——__ L}
; (1) 3 qIed Pl
(1) Presentation of advance organzer . .
. 4 anization (2) WsHIHG |G PT gqé_laﬁﬂr 5
(2) Strengthening cognitive 08
el @) st BT @1 TRGRET %
3) Presentation of learning X
, . > material @) oftwT fwrae] F1 RGP
(4) Presentation of learning .
lard Movement? 54. <o afiale Bl AP P o’
Who was the founder of Lo &
. 1) EIIE;IWIB
(1) John Wycllffc -
(2) Savonarola o @
(3) Erasmus M
(4) Thomas More & /

13- BR
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55. ¥@-1 @ g@-11 & gafia W T wd 58

55. Match List-1 with List-II and choose the correct

Page 12 of 32

option — B —
List-I List-II
(Newspaper) (Founders)
(A) Bombay (i) P.M (A)
Samachar Motiwala
(B) Shome Prakash (i) Babu (B)
Jogendranath 5
Bose
(C) Jam-e-Jamshed (iii) Fardoonji ©
Marzban
(D) Bangabasi (iv) Ishwar
Chandra (D)
Vidyasagar
A B C D A B C D 6
@ @ (i1) (ii))  (@iv) 1 @ (i) (ii1) (iv)?i
@ G (v G) Gi) @ G (v G i) )
@ @) Gv) @ (Gi) () i) (@v)! @) - (i)e
@ Gy G Gv) @) @ G Gi) (iv) (i)’j\

56.  Where did Rash Behari Bose handed over the  56. 4 Jes 1943 €. &1, ¥ Rerdr @ ¥ udf
leadership of the Indian National Army in East URRT A sfsa Avme ot @t A7 gy 6
Asia to Subhash Chandra Bose on 4" July, T 99 B fF9 ©mF w @ihr?

19437

(1) Tokyo @ S

(2) Singapore 2) R

(3) Rangoon @ = @
(4) Paris @) R\

57. Read the following statements and choose the  57.  fyifeiRad Hemi &1 TRT sk HE IR B
correct answer - e T - '

(A) The Chamber of Princes was oA RITYAT i }
established in 1918. ) I 1918 % I ¢
(B)  ‘Butlar Committee’ wag formed in I
1927 for inquiring into relationship By SEw I e 10 et
between the Indian princely states < Rarwt vd e e o .
and the paramount power of British, & el B S BT o7 |
(1) Only A is correct (1) Pad A ¥ 2
(2) Only B is correct (2) ®ad B W& & @
(3) Both Aand B are correct (3) AUG B I w@ ¥
(4) Both A and B are incorrect (4 ATd B T e &
///\ —
13



.. 1S a major change seen in

bones of adolescents as compared to children.

»

Colour

(2) Composition
(3) Function
(4) Deformities

59. Stone image of which king has been found in
excavation at Kanaganahalli?

(1)
(2)
3
@)

Ashoka

Chandragupta Maurya
Bindusar

Brihadratha

60. Which of the following statements is false?

1)
2

&)

@)

The Ulema class was anti Sufi.
Suharvardi Silsila was established in
Delhi.

Khankahs encouraged the process of
urbanization.

Nathpanthis used to come to Khankans
to discuss mysticism with Chishtis.

61. Read the following statements and choose the
correct option from below —

(a)

(b)

@
2)
3
@

62. Which one of the following pal

Mosques were built by Iltutmish in
Nagaur, Pallavan and Hansi.

Tomb of Iltutmish is made of red

stone.

Both (a) and (b) are trué
(a) is true, (b) is false
(a) is false, (b) is true

Both (a) and (b) are false
irs is not

correctly matched?

1)
)

.
(3) Ganeshwar — Black

Bagor — Microlithic tools

Kalibanga — Fortification
polished ware

(4) Bairath — Buddhist monastery

\\___

13- 5

58.

59.

61.

62.

fopeiRt &Y &f¥al & arerat A g A

e gRadH feams aar 21

(1)
(2)
3
C))

T
Hued
Ean]
Ao

FTEC B Gars F fFA e ) gwr
afet faeh 87

(1)
()
3
“@

S NIET
T A
fagar
FEE

®

g # 9 3 YA B 491 87

)
(2)

3

C))

ForAr @t T favmdy e

gerad! el &1 31wy fesll | @
3|

iﬁ'aﬁl@‘fﬁ?@ﬂﬂﬂwaﬁuﬁo—maﬁ v’
I g |

Ay EwEe ) Rftar | aaf
HA WHDEN | A A 7

frafoRea @Mt @1 ofer iR <im Ry

Rt 4 wé gPIT -

(a)

(b)

@)
(2)
3)
@

Wﬁwﬁa’mwﬁ; Waﬂ?%

BR A ARl &1 fmior earn
ar |
oAl &1 AHERT ol TR o
T 2

S (a) TT (b) @A &
(a) T B, (b) A B
(a) I ®, (b)) FHA ®
SR (a) TAT (b) T &

®

=1 & ¥ P v g wd gafed el

2?
(1)
(2)
3)
@)

IR — qaﬁmﬁrmw/

BIAFTT — Tﬁ—ﬁw/
‘Tﬂ‘\’a"\'—-fﬁanaﬂﬁqaﬂis
RS - dg fER,”

Page 13 of 32



63. Which one of the following characteristics 18
not related to an adolescent’s interests?
(1) Balance
(2) Instability
(3) Expansion
(4) Shift in values
64.  Which one of the following is not included in
hardware technology of education?
(1) Chart
(2) Tools for evaluation
(3) Slide projector
(4) Computer
65. Whose assassination on 28™ June, 1914 led to
the begining of World War - 1?
(1) Sir William Orpen
(2) Archduke Ferdinand
(3) Gavrilo Princip
(4) Henri Barbusse
66. Match the following List-I with List-II and
select the correct answer using the codes given
below —
List-I List-IT
(A) B. R. (i) An Indian
Ambedkar Pﬂgnm
(B) Rajendra (i) India Wins
Prasad Freedom
(C) Maulana Abul (iii) India
Kalam Azad Divided
(D)  Subhash (iv)  Pakistan or
Chandra Bose the Partition
of India
Code -
| A B C D
M Gi) Gv) Gy )
@ Gv) Gi) Gi) ()
@) Gi) v) @) i)
@ @Gv) O G i

13- 88
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65.

Wﬁwﬁﬁﬁ%&%ﬁﬁﬁm
fardrwan wafta =€ 82
(1) e

2) arfera

3) AR ®
4) ¥ § RIATTRO

Rren &t s<am®  (FoR) T 3
R # & Srrar afafeoa T8 2
a =

(2) HAHT B STHIT ®
3) wigs Veud

@ TR

28 S, 1914 &1 f&aa & & Borawy
o favg g5 uRw gair?

1) = faferw sitko=

Q) IBYF Wik BiETs

(3) AaRer i @
@) TN IRYY |
A1 BT -1 ¥ gafera i 3R @
@ 1 Ry 1T 3z &1 Sw =S T

SR BT 99 Hiforg —
-1 -1
(A) 4 I i) w g
FATHY ICEIPE
(B) RWoFw () s fa
mIeH
(ORI inl i) gfew
Bl IS fearzss
(D) JIIY T (iv) urfew™
a9 AR T
uifée 3
gfvgan
E[z\z o
A B C D
1) Gi)) @Gv) @D { (i)
(2) @v) (i)e @)l @) 9
3) @i @Gv) @ G
@ Gv) (@) @) o (id)




B -

zeJo st j

e
R
Rl (£)
@ pbph @)
. RIS (1)
| It 1Dkl Dl 1 baR] & kb
o (plobbil BRJS Loy e
nlkblyl  (b)
Wbl ()
Ribblle ()
Bk} (1
m%ﬁwﬁwwﬁu@ﬁwﬁﬁwﬁ
@ () n () @
e () () ~(AD) L () (€)
@ @ @ (np @ @
am @@ @y O (@
d ) d %
— 20
PR
bR . ol
bBhie  (AD) ko 2 (@
bh Rhlle (1) —— B bhl® )
bRje S kh lioklB
Bl (1) 1@ kbby (@)
BaSh
piehp  (B— Rlh [P L2 (v)
ek bk
— digjp bibk

1@ b (20 A8 Pao Liphe b 2B Al 0Y
ple 2 Dol DRJB B Tk 1@ TR

2 pRi (k> gAY B
age gy ©
2 ign g ree @
a3 nveee (@
Ille 1Bln 1RId) DIZRIK OF 1 Ivhe
kb @ el b Rie @ Yol (@
. | e pLo3d
Blebiy Wuon 2eufk @ Uolely (V)
— bk

(& 28 3B M Dilh & Lo DRIl

orld  (¥)
01008900g  (§)
saueAIR)  (7)
snuwisesg  (f)

0z Y} Jjosuily palapisuod

“pHOM opjou .
o, oy purlloH JoISUEiH snoure} ) FEA 0L
fueSAlys  (v)
nemeIpuey) (g)
/ puuyg  (7)
wons (P
69 - semnqydo spreuLied Jo [e3ded JUAIOUE YL “69
a @ O @Y ¥)
(1) (1) (A1) ™ (€
@ (@ (D m (@
ap (@@ @y O (D
a 9) 8| v
$3po)
K39100S
uoSIAJaf feorydosoqiyd
sewoy, (A1) ueduPWY YL (@
suled
spwoyy, (1) osuss uowrwo) (D)
uipjuelg oouopuadopuy]
unwefuag (1) jo uonerpaq (4
swepy Aed
prues (1) eay,  uoisog (V)
11811 ISV
- MOJ3q
UDAIS 902 dy) Suisn Jomsue 101100 Y] 19938
‘99 pue [[ISIT ynum [1sr] Suimoqoj oy yorrw 89
1001100u1 a1e g pue v yrog  (¥)
1901100 a1e g pue v yrog  (£)
£, 102100 st g Alug (2
o100 s1 y Aluo (1)
. Eﬁwm_wh& s fearyg ur xe |, pue]
s 2onpod jo yoored o (@)
. ‘HemIokY paf[ed
SEM WK anuoaoy puer s fearys (V)
L9 24l 3sooyd R g
PuE syuoursyeys uimofjof a4l pead L9
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the 71. F=faRaa womt o7 spms P
71. Read the following statements and choose ot SR 76
t option from below g 79w QIE‘Q =
correct option - .
(a) A few Gupta kings were worshippers () EB W AP {9 f%ra[ D SUTH S
of Lord Shiva. E | o
(b) Idol worship in the lcmplfis becam 1 (b) =AY # Hft USTT [eIhT %@ﬁ
common feature of Hinduism from the @ AT fagwer 99 7
Gupta period onwards. - (©) < womet 7 RAf aiffes awemt 77
(c) Gupta kings followed a POII?Y_ o @ ufa |fewa & Ny &1 g
tolerance towards different religious -
woey (1) W ab,cHT
1) a.‘b&caretme (2) a3[MI BT U b,c g & @
i5) o falseaz;nd b’; = ﬁ: 3) ab3MITETGc 9T B
Ei; :, ]; zccfarzef:rse . @ a,b,c < g
72. Who among the following created the 72. 4= & ¥ fwey wRreT vares # WS ug
Senakarte post in the Maratha Administration? BT gorq faar or?
(1) Shivaji 1) Rrarh 75
(2) RajaRam (2) SIR™ @
(4) Shahuji @) st
73. Which dynasty ruled over the whole of 73. 37cdl wraredy & fb ger 7 wyol gavig w
Suvarnadvipa in the 8" century A.D.? g fBar?
(1) Kadiri dynasty (1) IR g9 74
(2) Singhasari dynasty ) Rigar® g9
(3) Shailendra dynasty 3) g g @
(4) Sanjaya dyngsty ('4) AN .
74.  According to Silverman, ‘Which is not th 74.  RicaE @ GER, WA 9 B &) L
characteristic of Emotion’? : T8 22
(1) Emotion is diffused 1) =T R g 80
(2) Emotion is cumulative - S e
(3) Emotion is persistent v @ , gi?-;\\;
(4) Emotion is rarely motivational g o : )
nature (@) AT P UPT PH—FIR & KD
i
75. Tipu Sultan planted a “Tree of Liberty’ ¢ Jd = 7 WA B P AT —
(1) Mysore ) 75, é)f'i ger 81,
1 AR H
(2) Madras % %
) St R S 4 @)
(4) Manglore 3
4) wTAR H

——’//\
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]

sant Movement
76, Pabna Peasant was related to - fef
i () Bengal 76, Or&@dl ﬁrm*! AT Haferd o7 —
(2) Punjab () =
3) Bombay @ @
) (4) Madras (3) df
| _ . (4) #ward
" i‘:gﬁtcﬁ"e of the following statements is 77, frferaa Forl # & BT & Toa 27
; (1) 1681 % ware & wmes 4 fHE vd
(1) A Treaty was executed between Jai i il
Singh of Mewar and Mughal emgef:: I Ra % Ao W g |
Aurangzeb in 1681. @) #ars A W & gadt # g aHe
(2) Mewar gave Pur, Mandal and Badnor AT P R, AYSA Td q&AR B
fa@gmas to Aurangzeb in lieu of g garE |
aziya. ; :
3) wEe dNeE | R wE R A %
(3) Aurangzeb honoured Maharana Jai ;
Singh with Title of “Rana.” N b ;ﬁ e 1 e P
(4) Aurangzeb appointed Maharana Jai @) i o i T 6000
Singh as 6000 Mansab. P AAFaER e fear
78. Who built the Eklinga Mahadev temple near 78. IR P wpferr #eRa #ley fEaA
Udaipur? gamr?
(1) Guhil 1) ﬂﬁa
(2) Bappa Rawal (2) T IEA @
(3) Kumbha (3) F{HI
(4) Ratan Singh @) <= e
. When was the ‘Nuremberg Law’ made in 79. S H T BT B CeiD B
G(imlany? (1) 1933
) 1933
(2) 1034 (2) 1934
4) 1936 4) 1936
80, Which of the following dynastics is related 80. I:'T‘:‘Tef H ST Ll g &l ey &9
with Jogalthambhi hoards of coins? ST | 27
(1) Maurya () ﬂhi
(2) Shunga @) g @
(3) Satayahana ) L
@ Gupar o -
o is 8L AR ' F AT
8. On which occasion did Gandhiji 81" p Ty aqpﬁ?w T
Title of Kesar-i-Hind? emm.h r SifeYe
(1) Non Co-operation Movemen! :‘.l’) W= arasn e CD
(2) Civil Disobedience Movemen! (3) Brer 3
(3) Quit India Movement ) T
@) I we P

(4)  Surat Split

\ /

l3~@



: -orrectl 82.
82. Which of the following is not c€of® y
matched?
Mauryan Officer Responsibilities

(1) Samaharta Revenue

imi t
(2) Vyavaharika Criminal  Cour

Judge

(3) Prashasta ' State Decree (@

C))

Writer

L
Dauvarik Maintenance  of

Royal Palace

83. Which one of the following is not related to  83.

Itutmish?
(1) Made Delhi his capital
(2) Received Khillat from Caliph

3)
4)

(Khalifa)

ﬁwﬁﬁfﬁ‘}ﬂwgﬁﬁ‘—maﬁp

e st T
() waE — 3
() ARG B Moy
gramdrey
Q) WA _IEE e

fofteg & are
4) <mERs YISTHES &Y Sy

fFrfead # & ve gogafie ¥ vk
4

(1) feeel &1 3o+ o grd

(2) weiwT ¥ Rasrem o &Y of
Q) TH1 3R ST g5T AR @) o

Issued Tanka and Jital currency ® @) DaFE—v—art AT & ©IE @
of

Established the Department

Diwan-I-Arz

84. Which of the following Governor General 84.

compelled Hyderabad to cede Berar?

(1)
(2)
(3)
@)

Lord Wellesley
William Bentinck
Lord Hardinge
Lord Dalhousie

85.  Arrange the following in chronological order - 85.

(A)
(B)
(©)
(D)

Nationalization of the Suez canal,
Lingayti Agreement
Hanoi agreement

Hague conference

related o
Indonesia

Code -

1)

3 C
@ C

"’//—\

13-B8

C
@ B D
A
B

D

oon >
>m > w

o

= & 4 5w ToR oRa 3 e
TR & o ey e

(1) <R doren

2) fRform s

(3) dife =T @

HIfTg — ¢
(A) T TR BT ey V1

(B) oot wwsiar

©) & wwshar  adW =
(D) SSRRRT waE & T \d

Er,c‘\a...

M D C A B%
2 B D C A

3) Cl A Dl B u‘
@@ cl B D| A
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86. Match the following — sErd R
Newspaper Editors - AR 93
(A) Rajasthan (i) Samarath SR
Patrika Dan (A) ISR ) et I
(B) Rajasthan (i)  Rampratap af3repT
Samachar Sharma (B) NI (i) YA
(C) Sarvahit (i) Jai Narayan AR At
| Vyas () wdfed (i) ST AR
(D) Angivaan (iv)  Bakshi i
Lakshman (D) AT (iv) I d8o
Singh R
COdB“ &He —
(1) A~({y), B—(g), C-(), D-(iii) fl) A-(iv), B-(ii), C-(i), D-(iii)
(2) A-(i), B-(), C-(iv), D-(iii) @) A-Gi), B-(),{ C-(v), D-(iii)
(3) A-(v), B-(), C-(ii), D-(iii) (3) A-(iv), B-(@),] C-(iD), D-(iii)
@) A-(i), B-(i), C-(iii), D-(iv) @) A-(), B-Gi), C-(iii), D-(v)
§7. The supreme and complete knowledge in Jain  87. S e 3 qdse gd Qo S BT HE AT
Philosophy is called - 2 -
(1) Mati (1) #fa
) Shruti @ Hf @
(3) Avadhi (3) smafr
- @ “Kuivalyg — T N e

88. Wﬁﬁﬁﬁﬁgaﬁfﬂm@rﬁ?ﬁgﬁﬁqﬁ@ﬁ
e wdf fg g A7 ?(
1) B — T — 3 A
(2)-WFQ—Wﬁ (}
(3) B — T — Jpas H
@) B — T — fper o # X

‘Bhagwat Bhakti 89. 9irag Hfdd AT & OEd P &7

8. In which military contingent of Ranjit Singh
were French soldiers recruited?
(1) Fauj—e— Aam
(2) Fauj-e— Khas
(3) Fauj—e— Bakewaid
(4) Fauj — e — Qilla Jaat

8. Who is the author of \
Rasayan’? g; e T
(1) Gokuldas . 3
(2) Madhusudan Saraswatl ( 4) IS
i (3) Beni Madhab Das () R
(4) Nabhadas : A
%. Read the following statements and choose the 90. :ﬁﬁﬁﬂ%ﬁgﬁﬁq o mﬁ -‘?qua ik )
A RN s S e il o T @ AR T g e e
o | -
‘s military departmer’ il
(b) ;dd?rggzlk’:}:? l“l,as also the Head of it:sc ) HR TE=h gfpar R I
Intelligence and Information agencies- & g W U
, 1 ‘ a2
(1) Both (a) and (b) ar®  ad :2; f:?aggm (bgb;w 2 '1/
((g) (a) is true, (b) iS f:luf . 3) (a) 3 2, (b) A E ;
) is false, (b) i '
@ ot o (0 are s p I G B e

./ page 19 of 32
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91. frem & yomeh Sur # wfuferd usi & wd

e of steps involved in

91. Select the correct sequenc : | B 95.

system approach of education - " m” ; EF,TIE 1T

(i)  Analysis of the task | % ‘ fagereol

(i)  Specification of objectives (ll) e} &1 faRrETHRo

(iii) System design and development (i) women wrey g faerd

(iv) System analysis _ (iv) woen fagemo

(v)  Operation of preferred OO (v)  wrifeen W @ et

(vi) Evaluation of effectiveness O v e @ - . -

performance

A) Q) — (i) —(Gii) V) > =) (1) 1) > (i) —(iii) =(iv) =) >0)
@) (i) - (i) =(v) (i) =) >V @ @) (i) - (i) =(v) =(i) =) (Vi)
@) (i) = (i) 2Gv) (i) =) =) @ () — @ —{y) ) —(v) =(vi)
@  (v) - (i) =) —=(vi) o(iiD) 2(v) (@) y(v) — (i) —(i) —(vi) —(iii) —=(iv)

92. Read the following statements about ‘Quit ~92. "Rd el sl @ IR H 3eifelm

India Movement’ - HUAT DI UfeT —
(i) It was launched after the failure of () dg fored A9 &) GBIl b 4G
Cripps Mission. o far T | 7.
(i1) Gz}ndhjji led the movement from the Gi) TiEhoh Y o ¥ e @ ﬁ'@c’cl
prison. B
Choose the correct answer from the code given A9 Ry U B ¥ W& TR AT —
below- ) % -
(1) (i) s true but (i) is false 0 @)W v i) v
(2) (i) is true but (i is false 7N @ (i) L& I (i) o &
(3) Both (i) and (ii) are false @) |2 )T (i) e & B
(4) Both (i) and (ii) are true @) < () vd (i) 99 &

93. Which system contributed to the economic  93.- WHAI @ ITITcD THHROT A F FTAAI 3
“m_ﬁcatfm‘ of Germany prior to the Political e TateRYT § fbg egawerm ¥ AR
unification? R

(1) Metternich ' 0
@) Zollverein (1) F=ffa ugfy '
(3) Frankfurt Parliament (2) \‘rﬁ?ﬁﬁq
(4) Rhine Confederation @ (3) woH%e [T

o 4) T3 Y

94, Rock paintin Indi . (
by - g In India were first discovered 94, e ¥ 31 Rt Y ey wer: e A
(1) V.S. Wakankar @1 g AP
(2) Yashodhar Mathpal (1) 9. TE. aHoER
3 Erwin Neumayer A( (2) TR HOUTH
@) A.C.L.Carlleyle () TR R

BEEEESS e e @ 4 U ¥ ge. Prege —_
I
13- %
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95. Who had won the struggle for the Christian 95, ffew wug ¥ 3UE o yaRS! & oy feey

Missionaries in the British Parliament? e ofrer?

(1) Adam Smith and Jeremy Bentham (1) Tew Reer vd ol e

(2) Charles Grant and William _ " et
Wilberforce (2) =ed Uie ud faferw feame

(3) Thomas Macaulay and John Stuart (3) doftra Adre vd W wad B
o @) e T BT

(4) Sleeman and Carter
96. Which one of the following statement is 96. FffRIETE Sur™ & Hed ¥ frefaled & &

incorrect in  context of constructivist P FUT T8 TE 27
approached? (1) sreamd & faenfial & qd wwcaa -
(1) Teacher must know the pre-concepts R o GRIY SIFA ARy |
and mis-concept of students. (2 omaud H Hel H fRAERl @
(2) Teacher should encourage to debate are—fare &1 ueaifea HxAT Anfey |
ideas in class. (3) orAID fRenfefal &7 wwraal $7{
(3) Teacher may ask students to apply FuAnT SR aRvITHT & ARiE @ ferg
their concepts and summarise results. HE qHa & |
(4) Teacher should transmit correct facts @) sruud & el aF € @b« W
" and information to student. 3R gERI B ygarEr ARy |
97. When and between whom the Treaty of ~97. 3wk @ Wiy &4 d fbviss e g o
Amritsar was signed?
(1) In 1809 between English and Ahmad (1) 1809 % 3fiIST T 3EAT AE SFTed!
Shah Abdali @ &Y
(2) In 1809 between English and Akbar II 2) 1809 % 3 d IPpex Il & 74 @
(3) In 1809 between English and Ranjit @) 1809 % 3w 9 Yool e & 7
Singh (@) 1809 % 3 G Bledx B WA

(4) In 1809 between English and Holkar

98. Who was the author of ‘Wast-ul-Hayat? 98. ‘TS P oGDH DI AT?

(1) Ziauddin Barni 1 fraeds ==

(2) Alberuni 2) g X

(3) Hassan Nizami @) & P X \1
(4) Amir Khusro @) IR G

99. wifd & IRM Pr=forlRaa ¥ A g H<T’
q B ¥ AN BRar?

i) et 9w B A (ge)

99. Which of the following were introduced in
France by the “Convention” during the

revolution?

(i)  Knee breeches (i) EF Fata (R@er gex aen) v
(ii)  Sans Culottes (iii) AR @RS) v

(iii)  Citoyen \ (iv) AFRR (TETeY)

(iv) Monsieur & BT BT TAT PN —

Choose the correct code - (1) (i) 3R (i)

(1) (ii) and (iii) @) (Gi), Gii) 3R (iv)

(2) (i), (iii) and (iv) @) ()3 Giv)

(3 (i) and (iv) i apim .

P - @) (i), (i), (iii) 3R (iv)

-

e —
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100. Avadana literature is related to which religion?

(1) Jainism

(2) Buddhism

(3) Hinduism

(4) Shaivism
Which of the following is not related to
measures needed to overcome language
barriers in a classroom?

(1) Use less verbalism

(2) Use of effective audio — visual aids

(3) Use rhetorical language

(4) Use simple language and symbols

102. Jai Dayal and Mehrab Khan led the Revolt of
1857 at -
(1) Nasirabad
@
3
@

101.

Beawar
Tonk -
Kota

103. The Kailasa Temple at Ellora was constructed
by the following ruler -

(1) Krishnal

(2) IndralIll

(3) Amoghavarsha II

(4) Govinda IV

Which tax was associated with land during the
sultanate period?

(1) - Kharaz

(2) Khams

(3) Zakat

@) Jaziya

What was the Bbjective of
Commission’ set up'in 18959
(1) To define the jurisdiction of the central
and provincial government,
(2) To inquire into the income and
3

104.

05. ‘Welby

expenditure of Indja.

To improve the relationship between
the Government o

. . f India apd
Indian princely States, R

To define the Powers of th
of State for India_ ¢ Secretary

/”\

=)

100. omar wiften R o & W 7
1y <=
2 doF
3 feg
@ ¥a

: } ATHT BT TS
Preforfaa 3 § @Yar e d A @
P X B B NATIH SUEl @ WA T

87 ,
(1) @F i wOi B STAT

Ry W s
SRl

@(3) JIAPIRG 1T O S
(4) TR AT IR FHll BT ST
SrreaTe U ¥eve @i 3 1857 @ fawia @

g wel faar oar?
1) FERER”
2 =R

@3) <i®

@ 4) dler

103. TART & damrar wfex &1 Aty iR
49 59 we @ gRT fhar Ty or?
@) P I
(2) s
(3) aFEEY I
@) mfdgr v
104. e BT ¥ B9 |1 Py
oT?
1) "’

2 g
3) Yo @
4 <Iforr

105. 1895 # .
oT? WWWWWM

101.

P

102.

I d e

©
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106.

107.

108.

109.

110.

111,

Who successfully suppressed the rebellion
against Akbar in Kabul in 1585 AD?

(1) Rai Singh

(2) Mirza Koka

(3) Bharmal

(4) Man Singh

According to Piaget’s cognitive development
theory, at which of the following stage a child
can verify problems with
systematic procedure?

(1) Sensorimotor

(2) Pre-operational

(3) Concrete operational

(4) Formal operational
At which of the following places did Lord
Canning read the ‘Queen’s Proclamation’ on
1 November, 1858?

(1) Kanpur

2) Agn

(3) Delhi

(4) Allahabad

logical and

Who mediated the peace between Mirza Raja
Jai Singh of Amber and Shivaji?

(1) Noor Beg

(2) Shamraj Nilkanth

(3) Raghunath Pandit Atre

(4) Appaji Shinde

Read the following statements about
Satvahanas and choose the correct option from
below —

" (a) The Matsya Purana lists 30 Satvahana
rulers.

The Vayu Purana lists 17 Satvahana

rulers.

Both (a) and (b) are true
(a) is false, (b)-is true
(3) (a)istrue, (b)1s falsc;a1
(4) Both (a) and (b) are false
Tht: date of “D — Day” in Second World War
was -
(1) 6 June, 1942
(2) 6 June, 1943
(3) 6 June, 1944
(4) 6 June, 1945

(b)

)
)

13-88

106.

107.

108.

109.

110.

111.

HIgd H JPR B fAvg gY 8w o fbww

1585 €. % WhoIaTgd® Tarar?

1) a e

(2) st s

(3) YRHA

4) = Rie

o @ Weree e & fRgh @
farifa % @ fra ermen & arad

qeuul AR wERerd ufbar & @wwne &1

THTOHYOT bxal 87

) GaenTHE

2) ud fraras

(3) T fhas

@) e fharces

frg W @ fFe wF R dre BT A

| Haqmx, 1858 @ I HT AN G UG

o7

1) AR

(2) TRI

3) feelt

(4) ScEER

IrR & gt <o safiE T Rash & 7=

sriforarat § fFas AeaRerr @ o7

@ ma X

2) IS Ao

@) gy ufSd 3

C)) /(

Hraare—t & fava ¥ fr=ifea seEt S ufey

Td 4R Ry el § | |98 g —

(a) HaRd RO 30 AadTed e

PN B |

AR IO 17 Hared [ B
Jooid Pl 2 |

AT (a) AAT (b) TH B
(2) 3T B, (b) 9 &
B3) (a)F™ 2, (b) 3T &
(4) < (a) T (b) A B
%ﬁuﬁ?ﬂg@ﬁ “D—Day”ﬂ;’fﬁfﬁfzﬂ"

1)
(2)
3)
4)

(b)

1
(2)

6 S, 1942
6 5, 1943
6 S, 1944

6 S, 1945
e e
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112.  Where was the second Buddhist Council held? 112,

(1)
(2)
(3)
(4)

113. Who

(n
2)
3)

B

dig et 3 fgcdia dihfa @sf 587

Rajgriha (1) oE

Vaishali (2) demeh

Patliputra @ (3) urEely

Kashmir (4) HER

performed the Ashwamedha Yajna 113, ysaftm g gRT Ao vy g3 foras
organized by Pushyamitra Shunga? Huifee faar or?

Taranath (1) TRERT

Apastamba (2) oMUEd

Patanjali @ @3) udwifer

Bhagabhadra

4)

I14. Match the following List-I with List-Il and 114.

select the correct answer using the codes given
below —

List-I
(Sites as

Mesolithic age)
A Langhnaj
B Teri Group
C Sarai Nahar Rai

D Adamgarh

Code -

(1
(2)
(3)
4)

A B C
i iv 1ii
i i iv
i 1 v
i i i

iii

iv

List-II
(State)

Gujarat
Tamil Nadu
Madhya
Pradesh
Uttar
Pradesh

D
ii

iii
iii

v

115. Jaitirtha wrote a review op his Guru’s 115.

composition “Sutra Bhashya.” Who among the
following was that Gury saints?

(1)
2)
3)
4)

’///\

1’1,%

Ramanuja
Madhavg
Nimbarka
Vallabha

-1 3R -1 &1 gafera difve sk
A7 U e &1 SUANT HRd g R Sw®

BT TYF BT —
-1
(FeggTSTOT BT
RIT)

A TEHISH ~—
B 2w

C I e

A B
1M i v i
@) i i v
@ i i iv
@ @i

-1
(verem)

i
i

1

ii

il

iii

v

afferrg
L 12 e

RIS

@

mﬁﬁ#mﬂvaﬂmww'ﬂ
ﬂﬁmf%mﬂamﬁ'rmﬁﬁagg-\sg‘aaﬁ

o

(1) s
(2) H®E
3) P
4) oo

Darm. ™4 ~£ 129




116, I e cooperative learning approach

117,

118.

119.

120.

students work in reciprocal pairs, taking turns
summarizing information and orally presenting
it to each other. Each member of the pair
listens, monitors the presentation for any

mistakes and gives feedback to his/her partner.

1)
)
3)
4)

Which of the following is not included in the

Jigsaw classroom

Group investigation

Student teams achievement division
Cooperative scripting

famous ‘Panchjana’ of Rigvedic times?
(1
(2)
3
C))

Turvasha
Puru
Bharat
Druhya

Which of the following pairs is incorrectly
matched?
1 Barabudur — Java

(2) Angkor wat— Kambuja

(3) Anand temple — Sumatra

(4) LaraJonggrang - Java
Which one the following pairs is not correctly
matched?

(1) Vakpati - Gaudavaho

(2) Somdev — Kathasaritsagara

(3) Dandin - Dashakumaracharita

(4) Bilhana— Navasahasankacharita

“An old man always reminiscences his youth
and brave actions at that time.” This €go
defence mechanism is -

(1)
(2) Repression
(3) Projection
4) Identification

Regression

116.

117.

118.

119.

120.

Reeff owaRes o # @@ @ 3§
EA—IGAPY AR BT HRANDRUT BRA
¥ ok TFH-gm BT W AEF FI § 7gd
o | A (gH) B TS T G ¥
fred e @ fore spdraor A R
FvaT & AR o weh @1 geodee & ¥
(1) R wem &

1 T

@ S,
(@) W W<

4) &

ﬁﬁﬁﬁmwwﬂﬁgﬁ%ﬁﬂﬁﬁ?
1) aER - o vV

@) R ar — Fegen v

(3) eTHT wiew — gHTAT éﬁ @
(4) IRT ST — Srat

Ry & B P TE g gafea T

=14

T T
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121.

122.

123.

124.

125.

126.

In which of the following battles, Babar’s army
was

defeated by Maharana Sanga on

16" February, 15277
(1) Khanwa

(2) Bayana
(3) Basawa
(4) Khandar

Which among the following place was renamed

‘Sultanpur’ during Tuglaq period?
(1) Devgiri

(2) Dwarsamudra

(3) Warangal

@)

Which of the following rulers assumed the title

Madurai

of “Devputra”?

(1) Maurya rulers
(2) Saka rulers

3)
@

At which site in Rajasthan a necklace of stones
and bones beads was discovered around the

Kushana rulers
Satavahana rulers

neck of a skeleton?

(1)
()
3
@

Who was the Chairman of the National

Bagor
Ahar
Tilwara
Dhaneri

Planning Committee formed in 19387

1)
2
3)
4)

Read the following statements about Rai Singh
and choose the correct option from below -

(a)

(b)

§))
2)
3)
4)

Jawahar Lal Nehru
Subhash Chandra Bose
Rajendra Prasad
Vallabh Bhai Pate]

Rai Singh had a mansab of 5000 in the
Mughal court.
Rai Singh participated in the Mewar

campaign of Pripce Salim in
1603 A.D.

Both (a) and (b) are true
(a) is true, (b) is false

(a) is false, (b) is true
Both () and (b) are false

“
13- B8

121.

122.

123.

124,

125.

126.

@) wWUER
=1 & & grere e 7 w1 T
IR GRIGR' PR AT oq1?
1) <afms
(2) EREgE f
3) I’ 3@
@ "R
= # & 5wt 9 a9y B Sul
R &) ofi?
1) ¥4 st 9
(2 vH IR N @
(3) BT TTHBI A
(4) wTETET WD A
RIS # {59 ®d )R 0 Bae & T
# ver 9 =T @1 'R T T an
1) IR
2) 3Es
(3) foerarer @
@ g0
1938 #, e IS Frire sy &7 o
BT AqT?
1) VAR 9 e
2) g9y 77 g ®
() o uwE
4) T S gy
?rqf%ig%ﬂaﬁﬁfﬁﬁﬁﬁmamﬂ‘iaﬁqﬁﬁ
W’ﬂ‘v‘tﬁ‘\'fﬂweq‘rﬁvé’rﬂﬁq—
(@) SR B g axaw F 5000 @
A9 T ot |
(b) ARE 3 wEarR wdw B 1603 €

& HATS A § Wy R ey
1) T (2) T (b) ey @
@) (¥ 2, (b)orgey 2
3)  (a) IFT B, (b) wey 2

T (2) TF (b) arrey &

4)

Y
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127. The famous broken statue of Kanishka was 127. »faes & uRig &) g8 4ff v == &

found near which city? qrg e of?
(1) Alwar (1) 3R |
2) Delhi @ P @
(3) Peshawar @) TR
(4) Mathura @ TR
128. Ranjit Singh belonged to - 128. vursla fRig w@efog o —
(1) Ramgarhia Misl (1) T e ¥
(2) Ahluwalia Misl (2) orEcEtera i ¥
(3) Nishanwalia Misl @) e faw @ @
(4) Sukerchakia Misl @ ﬁfﬁ?ﬂﬁmﬁﬁ J
129. Which one of the following teaching learning 129. fy=farRaa Rweor sftrm wrfl § ¥ PN
material is an audio aid? @ TeTas A 27
(1) Mustrated book D fafa g
) Exhibition @) e @
(3) Language laboratory (3) T TARTIITET :
(@) Field trip B
130. Oudh was merged with the British Indian 130. fHEa) siftm RO @ IR X 3@y &
Empire on the basis of last report of - faer fafeer w_aiy sy & fdar e
(1) Arnold Galloway (1) 3Hes e : .
(2) H.S.Milborrow @) TE TE e | @
(3) John Sutherland 3) < Fexovs o
(4) James Outram ) Qi =d
131. Which one of the following items is most 131. F=foRag # ¥ o\ @ w1 fred =R
appropriate example for self-evaluation of W WIS gy B M qiea & forg
emotional intelligence on a Likert’s scale? Hafaw 27
(1) Tdo well on verbal tests. (D) ¥ wnfes gdeoi § amsT B3 ¥
(2) I have the ability to create maps of

Q) = wrE B AERE @ ol @
spaces.

qar 2
(3) Iam collaborating with other people. @) # s = oy ﬁl
(4) 1 understand natural and human made TEATT Rl

systems @ ‘J@fﬁ?ﬁ 3R IS yorrelt ()
132. The “North German Confederation” was 132. I o IR Y e frg af § @)
established in the year - T of? '
(1) 1864 1) 1864
@) 1865 2) 1865
3) 1866 3) 1866 : %
@) 1867 @) 1867
13- 88 Page 27 of 32



133. Which one of the following battles was not 133, f= # & facfg e TR FE A I

fought in second Anglo-Mysore war? arerd T o T oA
(1) Porto Nova (1) el e
v Malavalh (2) Hrefdeat]
(3) Shalingpur (3) enfermgR
(4) Poyiloor 4) l:hﬂEB
134. Which act created two Houses in the Cenrtral 134, = # @ f&9 IR & ERI, Bn
Legislature for the first time? e ¥ yo aR Q1 WA R TA?
(1) Actof 1892 (1) 1892 &1 affraw
(2) Actof 1909 (2) 1909 &1 &= @
(3) Actof 1919 (3) 1919 &1 fAfaw
(4) Actof 1935 @) 1935 &1 fRfrEw
135. According to the Kahaum inscription of 135, b=y« @ ‘HeM AfMerd & IIAR 75 4
Skandagupta, the idol of which religion were for o @1 gt wenfia wrardt of?
installed by Madra? 1 <=
(2) Buddhism 3) g

(3) Vaishnavism @ da
(4) Shaivism

136. “Kanyapayana” policy was adopted towards 136. ¥4« 7 =1 # ¥ fr & ufy “wgarE”

which of the following by Samudragupta? B Aifa roeTE?
(1) Malava (1) Hicar
(2) Sanakanika @) T @
(3) Shaka-Murunda @) - g
(4) Kharaparika (4) wRUR®
137. The Sections of Megasthenes Indica can be 137. - HTwiIol &1 sfswT & aier frmffag 3 @
found in the works of which of the following fo orEst & PRt § qro o By 8
writers? '
(i)  Arrian (i) I
(i)  Strabo (i) wRar
(iii)  Pliny (iii) fea=h
(iv) Livy (iv) fordy
(1) Only (i) W @@ |
g; g}y ?;a‘(!}d (ii) (2) @ad (i) T (ii) X 4
y (i), (ii) and (iii) e
@) (), (i), (iii) and (iv) ) o .63 G

Which one of the followi @) ;‘:i(i:}} (ii), (iii) 7 (iv)
Ollowing statement is not 138. = .
correct about Balban? e s BAT gAY B g § wE

(1) Re-acquisition of Igtas ) '

; : gAY Eﬁ'da'uT

(2) Relation with the Afrasiyap dynasty 2) IREE d9 ¥ ey -
3) Court splendour : @

4) Consolidation of Chalisa (3) TEAR Iwg
@ SR BT Gednvor

e

138.

—”///_\
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139. Which tittle was bestowed upon Qutubuddin 139, HEwig M % HAFE Ya@ B AR B
B @ 9gH yEH

Aibak as Viceroy of Indian territories by & AN T T
Muhammad Ghori? 27 \
(1) Malik \ )
% - @
(3) Ghazi
(4) Sultan 3) TSR f
N @ g&A
140. Mao led the historical “Long March™ in China 140, wia 3 faie & fba wie @@ 9= #
from Kiyangsi to which place? W St a1’ @1 g fm ar
(I) Peking 1y e
(2) Nanking @) At 2
(3) Shensi 3) Y
(4) Kangsu @ @i
141. Which of the following Greek historians did 141. = § & f&a T gftEaer A e
not write a book titled ‘Indica’? s & qwas @ ford?
(1) Cassius 1) dRw
(2) Megasthenes @) W‘ﬂ;ﬁz(
(3) Armman R
(4) Patroclus W S; Wﬁ'\q
142. Who was the ruler of the Chandela kingdom at  142. GedRTT [l §RT @ael oG GX I(HAYT &
the time of attack of Prithviraj I11? SR qBT BT AHE DI AT7
(1) Paramardi (1) GRHTEY
(2) Jinpal (2) T ®
(3) Aalha (3) 3T
(4) Bhimdev @) Hreg
143.  Which of the following rulers of Kota took the 143. Fr=ififla % & ®rer &1 @ s s
painters with him during his hunting RFR 3= @8R REeR! &) sm |~
expeditions? o ST or?
(1) Shatru Sal II (1) w3 i
(2) Ummed Singh I ) s9E fie \/
(3) Guman Singh "V 3) T fRig X
(4) Durjan Sal @ gof wa X
144. In 1851, Jyotiba Phule and his wife started a  144. 1851 § # a1 g sk w7@ weh
Girls School at which place? foe I W erefal a1 I &
(1) Bombay (1) T=gX
(2) Satara (2) wam
(3) Poona @) T ),
(4) Valsad @) aEEEX
145. Which of the following paris is not correctly 145, ﬁ:l LIGEE R W WA gafera TE
matched? & \/
(1) Marco Polo - Italy (1) et ore) — geeh
(2) AhdalRazzxq—Samarkand (2) IFH P - TRET < @
(3) Barbarossa — Portugal () IRERT - El’ch‘lﬂ\/
(4) Monserrate — France 4) ¥WrRe — Wi,
""""‘—'---....________ ——

1388 Page 29 of 32



——

146. Which of the following ruler had assumed the 146, =1 ¥ & Rew mad 7 ‘SWIAEd 75" 3

Title of “Apratihata Chakra™? Iy ey @1 o7
(1) Simuka (1 Rms
(2) Satakarni I (2) A I
(3) Gautamiputra Satakarni 3) rnfpﬂaa
(4) Yajna Sri Satakarni 4) TN
147. Which one of the following pair is not correctly 147, &= y § P b g e ghfera
matched? 27 ;
(1) Nicholas II - Romanovs 1) e 11— AT 9 v
(2) CHEKA - currency ) ﬁ'ﬂ ﬂi‘f T
(3) Red Army — Trotsky 3) \/ @
(4) Iskra-Lenin (4) =. g}ﬁ—q \/
148. The Act of 1813, led to the abolition of 148. 1813 % arﬁ:ﬁ?:m 3, fr=falea & S
following — H1 yH fdar — _
(i) Company’s monopoly on trade with () - 9RT & AT FAAR T FIA H L
TR THIRBR
(i) ?n(;;naia:;);’s monopoly on trade with (i) S TR TR T BT qmiﬁam?(‘
(iii) Company’s monopoly on trade with (i) F ® W AR W Y L W(
China THIEDR
@iv) S(;mqpany’s monopoly on (iv) "Imaf® g U” Bl BT Q‘cﬁlﬁ'cﬁl?%
ministrative positions gfg —
Choose the correct code - -\q(?) HE\EW @
(1) Only (i) : .
; . ) @ad ()T (ii) @
(2) Only (i) and (ii) S A
(3) Only (i), (ii) and (iii) A
@) (i), (i), (iii) and (iv) w 1 3 L& &S
149. Which one of the following statements is most - 149. REn #if@s= & wdg # H=ar HUd
appropriate regarding Educational JuGerT o7
Psychology? TE IIWATTAS  UHfa b A
(1) It is a positive science with applied TS fas= &
nature. | (2) TE IJATD TP & T AHITD
(2) It is a social science without scientific fasm &) \
nature .
¥ 3) U JurS framme g
(3) Itis an applied and normative science. - 2 Al
(4) It is a normative science with future sy
predication. ) %gm 8 TUT P W UH AW
150. Which of the following pairs is not correctly 150. fr=folRaa & |9 @ g ‘\j'l’-lﬁ”-lﬁ Gl
; matched? 2
(1) Narpati Nalha - Bisaldeo Raso (1) Ul o8 — ey Ty Vv
(2) Girdhar Asiya - Sagat Raso 2) R el — g s v i
(3) Daulat Vijay - Khuman Raso @3) <o R — gEor vy
(4) Kaviya Gopaldas - Kyamkhan Raso @) far Mt — R




